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Chapter Test, Form 2B

Read each question carefully. Write the letter for your 
answer on the line provided.

 1. Which is the best estimate of the amount of milk in a lunch 
carton of milk?

 A. 1 mL B. 200 mL C. 1 L D. 5 L

 2. Which is the best estimate of the mass of a golf ball?

F. 1 g G. 18 g H. 1 kg I. 18 kg

 3. Which is the best estimate of the amount of water in   
a large pitcher?

A. 1 mL B. 10 mL C. 1 L D. 50 L

 4. Which is the best estimate of the mass of a paper clip?

F. 1 g G. 5 g H. 1 kg I. 7 kg

 5. 7 kg ×  10 = 

 A. 70 kg B. 700 kg C. 7,000 kg D. 70,000 kg

 6. 585 g + 415 g = 

F. 990 g G. 170 g H. 1,000 g I. 10,000 g

 7. Find the time interval.

  

A. 4 hours  C. 6 hours 

B. 5 hours  D. 7 hours
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Chapter Test, Form 2B (continued)

Write the letter for the time shown on each digital or analog clock.
 8. 

 F. 4:08 G. 4:18 H. 4:28 I. 4:38

 9. 

 A. 4:40 B. 5:35 C. 5:38 D. 5:40

 10. 

 F. 9:05 G. 9:15 H. 3:15 I. 3:45

Solve. Write your answer on the line provided.

 11. Mr. Salazar bought 4 liters of juice. He used 2 liters to make 
punch. How many liters of juice does he have left? 

 12. Carter spends 25 minutes on his math homework and 
17 minutes on his reading homework. He began his 
homework at 6:00. What time did he finish?

 13. Will needs 7 liters of water. He has a 3-liter bottle and a 
1-liter bottle. What combination of bottles can he use to get 
exactly 7 liters?

 14. Sam’s baseball bat has a mass of 1 kilogram. His softball has 
a mass of 300 grams. If 1 kilogram = 1,000 grams, how 
much more mass does the bat have than the ball?
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sample answer: 
two 3-liter

bottles and one 
1-liter bottle

 700 grams
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